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If a barber makes a mistake, it’s a New IRV ES
Style. If an engineer makes a mistake,
3+5=8
it’s a New Venture. If parents makes a
mistake, it's a New Generation.
(29 words)
# analbumcover ® TE B
If you read this hash tag the same way I oW e DEEEN -
did, then the internet has ruined you AN ALBUM COVER
too. (19 words)
Teacher: “Don’t you know, Yuriko, that Wt £E
punctuation means that you must pause?”’
Yuriko: “Course, I do. A car driver punctured 3+0=3
his tire over there yesterday, and he paused
for half an hour.” (30 words)
“Dad, I decided to get married with that BAEIAA
girl.” “Oh, that girl? Then you must prepare
three kinds of rings.” 4+2=6

“H’m, engagement ring, wedding

ring...What else?” “Suffering.” (28 words)
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What did the police officer say to her belly button? MH X=
You're under a vest! (14 words)
2+1=3
6
Husband: Do you like Mt. Fuji? RRINES
Wife: Absolutely yes. The view makes me 745=12
quite speechless!
Husband: Very good. Then we will stay =4I
here another two weeks.
(26 words)
1
A: Why do gorillas have big  nostrils? RE O+
B: Because they have big fingers.
A: 1 see. Your fingers are small, but your
0+0=0

nostrils look big. Why?
B: Sniff-Sniff...Because I'm a competent
newsperson. (29words)

A recent finding by statisticians shows
the average human has one breast and

one testicle.

INEIEH

1+1=2
(15 words)
9 To a woman the first kiss is just the end of 1EN gl
the beginning; to a man it is the beginning
oftheend. (21 words) 2+1=3
10 en
“I feel like I'm going to die.” =8 —5
“If you passed away, I would go crazy.”
“Yes, go crazy—you’d get married again.” 4+6=10
“I wouldn’t go that crazy.”
(27words)
11 . .
“safety distance”? or “no sense of unity”? SHEHRE
O O O (7 words)
2+3=5

O

Otvmeic GAMES TokYo 2020
(SHETYITANCE
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12 A woman intruded into the zoo monkey enclosure TeRE =
to feed the monkeys with bananas. The zoo
director condemned this behavior, saying “No 1+1=2
monkeying around”. (24 words)
13 Jack: Do you know why bald men are IRER 18—
much happier than bushy guys?
Tom: No. Why‘7 74+9=16
Jack: Because they don’t have to
worry about dying or parting. 5L
(27 words)
*  Q: What is the future of "he hig FHiE
drinks"? 5+8=13
A: He is drunk. e
FE=1
(12 words)
NKE

IR FTRMOENWAT AR —LT2HRT
T LA, BENTWTHIE LRV E, FATE
IR, A= RN—ZESLIHICLT
WET, MERTROEELEZ LY, il
A —F% T TTEE~GE LT T2 0 | R
BRI F YLD,

Al ) —RKEROFIZ, MC DREE%E
Wi EE Lz, RELTHEED TMAREL
TLIED, RAENEVEILZENTEEL
7o BHEEEL LTS ES o)l S, K
MIZHORE DS TZNE LT, W1 TORER
W RF RFLEZOIZALSD T, HiftfcLz,
BRI ASFo QW& L)
FTF, HOnELH>TIVELE,

AENE, T—REmMREOICRZT, B
B ETE D bON, ol BV E
T b EINSAPEDIRA—/LT L, A
HFRICEL DI U F Lz, Fimo% TowHt
HBRFERZZFN, Pa—IDORELEROTT
1!

AR 2EFERLE LN, ROV 3 —7
IRADEETT, N TH, HEEE LA
DOHBIMTELLLEFH-TEBY £7,

HigEmER A2 ZwmE LET, ARlX 1 EEO
HiE3INMNETH, 2HHELEDOAHETH, 1-3
L7 F Lz,

147 : 13 % RIS A
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Jack: Do you know why bald men are

much happier than bushy guys?

Tom: No. Why?

Jack: Because they don’t have to worry

about dying or parting.

@myﬁf%%ﬁbéjkN%&)%
B4 5 |, parting 28, (&5 5] & [(&E
SRIND & FTNVI—= 0 T DOERGEH
T, WD TL X IMN?

975 L. W T L BIEITAEIED
HELLS, My amd, EnbFEEHE L
V. BRI D Lol LAr kbR
THONDL, LV FEEE] LW HNEITR
DZHTT, RELTZORHETHNDT
LEID) Vo, THBEZWZLEEEL
Too WEZEEMDIRD £9, TARAXRFED
7o, R TEEEATLIEDONERETT,
247 :14%F HIBSA
Q: What is the future of
A: He is drunk.

R THVRNE, Brb, ChLbe
IEWRH EEDELERTTR! A7
ARBFHR ! GBEOBEORLT NDHEN,
BNLS EFARFICAEDERZK L S E
T ARV a =7 E2ERD LDV
We BbhbPew B HE L,

3 :6F RAB)ISA

Husband: Do you like Mt. Fuji?

“he drinks”?

Wife: Absolutely yes. The view makes me
quite speechless!
Husband: Very good. Then we will stay

here another two weeks.

EZoRFBLELROTTR ! FEXn
TVWBLPXRY T, KLl eBxZ &

A S FITIFIN BN ET A, ROFIT
HIIASD, TORIFTEITHEHLDHT
W5 EHTY, TH, Bhiliao oL ik
DTWLEOHZ, RIFELRA2DTWH
LEOICERET, HAZICHP-oTWND
T LEZDOFRMIT, !

OVEiR S SMamONE L FOPF
AR Z RN SE W& £ T,
1%

If a barber makes a mistake, it’s a New
Style. If an engineer makes a mistake, it’s a
New Venture. If parents make a mistake,
it’s a New Generation.

wBO, VAN TDHEWEIIfITL LD
2] LS TEMPRD Y £ L, [RKER
WER, HEEZIEL TWDOTIEZRNWTL LD
)b, BEARDY E L, X, FET
DR ZF>TnDHEIITBVE L,

WFTHUZLTH, TAIEH S E<AEETH
L8, EOFE, BRIZTENLZY, BOCH
ELRNBBAEZERTND] &, FoT0ND

£oTT, 2o, AMICHT 28 LWIREE
LHRELUE LT
2%

analbumcover If you read this hash tag
the same way I did, then the internet has
ruined you too.

AT K- TiE
BT MATRZRTERICR>TLEI D
TI22, [H LG D L. ARV

An album cover 73,

>
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TRESNTLES LI &, BHODOEBRE L
TE#E-oTWET, T, KEiTHY T H i
FOLIITHDET, SF0ApLELEL
7o
3%

Teacher: Don’t you know, Yuriko, that
punctuation means that you must
pause?

Yuriko: Course, I do. A car driver \»
punctured his tire over there
yesterday, and he paused for half an
hour.”

BRER THXRAMEHFEESINTNDEEFIC
Hms [(A)Hem CTiE s L oiz) LIEELET,
HAFIX, (2 THEHAZ7 LT, B
FoTW) &, BRI LZ, FELLY
TLedHLlrhHERLET,

BHETOARIN, SO T O mF 4 #E S
T.BLLAVWEDEREDRH Y £ LT, m51F
FLBENWE L,

4%

“Dad, I decided to get married with that

girl.”

“Oh, that girl? Then you must prepare

three kinds of rings.”

“H’'m, engagement ring, weddinging...

What else?”

“Suffering.”

ZORBUL, MY DB EFT EFLEBR
ZIFLE L,

BT FEMET 2 B T2 D-> T3 DD-ing

ZHEHT DL IICEEFToTOET, Bt

WS A LT, EIFTREZD suffering =%, B

5

N

TABR T2 72D TL X 9, FEEEH LA
LTV EFIE, E2ELEETLEIN? T
HRIK, MO LV AT oL ATEE
FIE, RBLEFI LB & T T O T, fEHSEED
FH AR G THLITEVD D A,
5%

What did the police officer say to her

belly button?

You're under a vest!

i NEEIZ M- TEMEER, 2420k
LB a v DT, #EHLb %]
&, BEEVRTE > TWET, WABEEDK
X, MEORERNIZTHKTH, KoTWD
DTIFRNTL X 9D

% < OEPANEERORIC, S5 T
WET, A BOTE S PFEOHTIE, V=
— 7 DIROEE S T2 35 T > TIE L
WHDTY,

VE:S

A: Why do gorillas have big nostrils?

B: Because they have big fingers.

A: T see. Your fingers are small, but your

nostrils look big. Why?

B: Sniff-Sniff...Because I'm a competent

newsperson.

ASBEISFADOY g — 7 I IAHRT L, [FY
FIEIRWIETRAEIZLL D06, BN KE
7polz, THHEF, FhERE7ZZ5 L LT
WHHRERELETE NS, BIPKEVATEL]
L EAREZATY, BT TT &N, %
EEETT,

8%

A recent finding by statisticians shows the

We, Jokers No.84, August 10, 2021



average human has one breast and one

testicle.
Tk, S HIERERER IS 3 D728
AN b EME BOAY ~E LT 5008 L

NEEALR, 20T a—7 &5k, €IOKLE

Lize BEDOA T A NOBLPHL L UIT T,

ARk
%

To a woman the first kiss is just the end

T DARLENRTNS EE T,

of the beginning; to a man it is the

beginning of the end.

LT & > TIBOIRE Y —FH < EH
ITE L, R HET IO T, BT R A I
WL TV E F 9, first kiss 7> O fEE~dEde & |
FELAERE VO HENH LFEET,

BHEZOWTE R0 by XA, 18
T, first kiss, LAUTHE AT, QU7

CELL ol thlcESX LK ER 2 DD
TL X2
1 0%

“I feel like I’'m going to die.”

“If you passed away, I would go crazy.” “Yes,

go crazy—you’d get married again.”

“I wouldn’t go that crazy.”

NIL2EM5) OFKS
HYFE L, FFTBEEORIZZWLT, TH
RENDEL ol b T L2 EEbobs )
bl LWOIKEE, hETTFT—V2LTE-
TWAHDOTL X HMN?

ZENRBENTND & ZIT - T2 RDTT 1

BENFEATE D, BIFEANIE-STLEI DA

I8, FIELTHLWVWWARL L] 2O TL XD

M2 EELEL, REDDbWE HIEBE SR

go crazy (21X,

6

TY, ZEOHIE, TRIERA T, TARIENR
ZLIEITOAED] & RNDIFEDIESEL
ST,
11%

“safety distance”? or “no sense of unity”?
IFESHShELE! anm
TUANAOEIET L0, AV 8y 7 BfEIc
IR RPAY =N K05 S VAN 7 bi YRR S VAY/AN
ZOTEEOHRIZ L0 IAENTNET
N HTOEEERELLD,
TOIE D WEELS . BPIEEV T TS NET,

2 DOEERL DA FNTOAY MBI TN T,
FALICRETT, BBV AL, MEHTRINDH
LKL TY, Enb&Eo&, NEIZaa I
B oA LB ENE L, EFL LW A
— 7T, RiF&TY,

fihd ZTERTIE, TmTELCHHEMT 5 &
BnwEd, antova—r 20T &
DZELTLIZ, RAHIFELRNELL,

12%

A woman intruded into the zoo monkey

DY a—rI\Z

ZDOVa—rkn

enclosure to feed the monkeys with bananas.
The zoo director condemned this behavior,
saying “No monkeying around”
BT — NDLHEDR | AT T I &
EFVOHIA~, RN S BEEICHES
N E 7, No monkeying around &%, ST
D7) EEOBEWIE LY E Lz, KIEOKMA
T, BOb T 20 TEhiE, B2 HOLORIC
BOfEE 2, 2L TS I b ENE L,

SEE YOU LATER

%
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